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g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
E5 Al 12,560,000 11,090,000 1,470,000
200 M2l +=¢ 6,262,400 5,851,400 411,000
210 & HAN 2= 2,198,000 2,213,000 A 15,000
212 AHBE ¢ 190,000 190,000 0
212-08 JIEtAE ZE 190,000 190,000 0
<usdEFH L > 190,000
OAUHA SSXDX AER 190,000, 000& 190,000
214 ANgE=¢ 1,978,000 1,993,000 A 15,000
214-02 Fx=+¢ 1,978,000 1,993,000 A 15,000
<usSHIY > 1,978,000
OANU & SS=XE 710,000, 000& 710,000
OZ4d =2 2 S2E=xF 465,000, 000& 465,000
SEEHAE & & 2IAFTE 72,000
-UE 20,000,000& 20,000
-4 52,000, 000& 52,000
OszdgY L2 BE=xE 36,000
-UE 16,000, 000& 16,000
-4 20,000,000& 20,000
OUdHAIE L2 SE=XE 18,000, 000& 18,000
OZSHAE L2 SEF=XE 11,000,000& 11,000
OdZE o SE=XE 14,000, 000& 14,000
OE o sE=XE 14,000,000& 14,000
Oo2Xel Lo 3g9=x& 170,000,000& 170,000
O=FENHAE L2 BE=1E 350,000,000 350,000
O=SRAE L2 BE=xE 18,000, 000& 18,000
Os=ESF L2 ZE:=xE 30,000,000& 30,000
Ogelio==2% & S=IEY 70,000,000& 70,000
216 Ol Xt=¢ 30,000 30,000 0
216-01 330 =01+ 30,000 30,000 0
<unsSHIY > 30,000
SSU S0l A==¢ 30,000,000 30,000
220 A HA2 = 4,064,400 3,638,400 426,000
222 RY3 908,000 868,000 40,000
222-02 &t 2523 908,000 868,000 40,000
<NsSHIY > 908,000




200 Al2l=+=¢

09 i 0

222 RY=3

220 SAIHAN LA+

Z2-2-8-5 Oll &F o & E Ol At Hns2
OH=ESRLFINE ZXHE 8,000,000& 8,000
OusmL2Egs 900,000, 000& 900,000
223 JIEt=¢ 2,036,400 1,764,400 272,000
223-03 WEH = 2,008,400 1,738,400 270,000
<usSdEFH > 2,008,400
O Xteleh HEHE 2,004,400
-g 7 680,000,000 680,000
-=7 1,324,400,000& 1,324,400
OAUTISI S+AHYE 8 BEHE 2,000,000& 2,000
OXtsxt2eld <t 2,000,000& 2,000
223-04 M SALOIBLHS 28,000 26,000 2,000
<unsSHIY > 28,000
ogxxtg dx= 10,000, 000& 10,000
Os=XHSA SHALE <E 10,000, 000& 10,000
OUTISI S+ALE <E 5,000,000& 5,000
OXtsxt2eld <fet 3,000,000 3,000
224 N = 1,120,000 1,006,000 114,000
224-01 At ¢ 1,120,000 1,006,000 114,000
<usSdEFHY > 1,120,000
OXgEE NsRLRE= 8,000,000 8,000
OXHtEE =X HEHZ 1,100,000
-g7 340,000,000& 340,000
-= 760,000, 000& 760,000
OXNHEHE HBXSI 2+AtSH 1,000,000& 1,000
OXNHEE Xsxt2eld ek el 1,000,000& 1,000
Ot =SS F-AIEE 2 7,000,000 7,000
OXHtEE U TNSA2S-AIEE D 2,000,000 2,000
OXNgEE Xsxtzelyd gt & 1,000,000& 1,000
500 EX= 3,937,600 3,238,600 699,000
510 = DEX3S 592,000 3,235,000 A2,643,000
511 =1EBX=S 592,000 3,235,000 A2,643,000
511-02 29 - (AL NELEIAHEEXS 592,000 3,235,000 A2,643,000
<usSEFHY > 592,000
OULSMIXSRINE ALY 55,000,000& 55,000




& 500 2=
2 510 =0E2=x
g 511 =1EX celE )
& Oll &F o & E Ol At Hns2
OCCTvVE MEE = 537,000,000& 537,000
520 Al - SHIEXZ=S 3,345,600 3,600 3,342,000
521 Al - EHIEEXS S 3,345,600 3,600 3,342,000
521-01 Al - EHIEXS S 3,345,600 3,600 3,342,000
<unsSdHEF 3,345,600
ozgz AFXHEA == 3,600,000& 3,600
O uszel AN AL 3,342,000,000& 3,342,000
700 EX A SHUENH 2,360,000 2,000,000 360,000
720 LH 2 A ch 2,360,000 2,000,000 360,000
721 8= 2,360,000 2,000,000 360,000
721-03 JIEI2I A A L = 2,360,000 2,000,000 360,000
< HNSHHD 2,360,000
OgtsA dY= 2,360,000,000& 2,360,000




